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* Find the missing character.

 ATIAT < 3hT UdT G|




®* Which number will replace the question mark (?) in the following series?

o IR ST H JaT=eh o8 (?) o T W shiF T §E&AT AT

®2,3,8,31,7




* Select the option that is related to the third letter-pair in the same way as the
second letter-pair 1s related to the first letter-pair.

* 3Y orshe™ shT =13 sh{ ST {16 STeTL-I H ST TehL Hei(erd & S UL &0
T8 HER-IH § Hei¥d

*FU:UF::RS:?

7\ \
30

I




* Arrange the following words as they appear in the English Dictionary.

o [feIlgd YTeal sl 38 ®Y H YT h STH I AU IreashIs H fad@Ts ad 2

® 1. Chairman
® 2. Challan

A. 1.2 4
® 3. Chaos > 2,453, 3

B. 1,4,2,3,5

C. 1,3,4,2,5
® 5. Changing D.1,2,3,4,5

* 4. Champion




* Select the option that is related to the third letter-pair in the same way as the

second letter-pair 1s related to the first letter-pair.

* 3Y orshe™ shT =13 sh{ ST {16 STeTL-I H ST TehL Hei(erd & S UL &0

T8 HER-IH § Hei¥d
*GP: TK:: DR ? A WX
B. VU

C. IW
D. WI




* Three of the following four words are alike 1n a certain way and one 1s
different. Pick the odd word out.

o ffciiad = sreet | 9 i ues f[Hfsra adier @ gae 8 ST Ueh T3 21 fawy st
RIELY

A. Tomato
B. Onion
C. Potato
D. Egg




‘Dice’ 1s related to ‘Cube’ in the same way as ‘Ball’ 1s related to

* UTHT ST H&eT O © 3T TR @ S TS SRl GeieT ' TR

A. Cone./&H
B. Cube./d@d
C. Sphere./"ﬁ?lT
D. Line./&@T




® In a code language, THRUST is written as UJUY XZ. How will WOOD be
written as in that language?

* T e AT H, THRUST &1 UJUY XZ o STt 81 36 9191 § WOOD ¥ forelt

A. XORH
B. XQRH
C. XQRI
D. XQSH




* Select the set in which the numbers are related in the same way as are the
numbers of the following set.

* 3T U T T ! [STaH TATT 36T I8 ¥ Geled & Si6 Ffafigd de i g 2
* (35, 48, 83)

A. (25, 49, 91)
B. (24, 49, 75)
C. (15, 24, 39)
D. (15,25, 41)

P Wan) ¢




® Shyam is the brother of Riya. Mohini is the mother of Anuj. Riya is the
daughter of Ram. Anuj is the brother of Shyam. How is Mohini related to Ram?

o YTV T ST TS 2 HfeT T3St ot |t 21 o 1w ot Ot 21 ST T Rl 9 B
A o7 T o 7 9oy 22

/. ﬁ\ | A. Mother
' B. Wife

C. Daughter
D. Sister




* Statements:

* All knifes are axes./a¥t I ghv'c‘:lshl 2l

* All axes are swords./g¥! ghcfsll(\s,eﬁ SRELE

* All saws are swords./TT 3T a9 2

® Conclusions:

* I. All swords are knifes./at dea = EQ &l

® [I. Some swords are axes./gh@ SISEIL! <il'»cf'(‘wls?l %l

® [II. Some swords are saws./’gh@ doar 3T 2




* Three of the following four numbers are alike 1n a certain way and one 1s
different. Pick the number that is different from the rest.

S

o Tfcrfiga = g 1 9 i1 v [Hfsa alies O 99 € 37T Ueh 37T B 98 S
NN 0\

<[4 STl SITehT © 3T 2




* Select the number-pair in which the two numbers are related in the same way as
are the two numbers of the following number-pair.

* 36 HEHT-TH hl T hIISTC 5w T HEATU IHT Teh Esiferd & Sty fHefetiie
HEAT-JH i 3T HEATC 3
®20:30

T\




®* Which two signs should be interchanged in the following equation to make it
correct?

» retferfia wfieheon 1w e 3
* 10+18-20x100<=5=27

P Wan) ¢




* [f it was a Saturday on 10 November 2018, what was the day of the week on 15
August 20177

o Jfe 10 AeR 2018 ohl AR AT, dF 15 AT 2017 3! THIE ohT ohi @7 o 72

A. Friday

B. Sunday
C. Tuesday
D. Monday




* Three of the following four letter-clusters are alike in a certain way and one is
different. Pick the odd one out.

o fTTcTREd =R ST&R-awg! § § i To [i2rd qlieh § 90 & 37K T 3T o fome




* How many squares are present in the following figure:

o 0N

o frfcTRad TRl H foha T HISEE &




®* Which letter-pair will replace the question mark (?) in the following series?

o HTTRE SiEeT § ST o8 (?) o T T hIH-HT &I SATTI?

* KH, ?, QN, WT, EB




* Select the set in which the numbers are related in the same way as are the
numbers of the following set.

* 3T U T T ! [STaH TATT 36T I8 ¥ Geled & Si6 Ffafigd de i g 2
* (10, 32, 54)

A.(25,47,77)
B. (35, 57, 79)

(é C.(15, 49, 37)

D.(16, 37, 56)




